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SiEBY K B J-GREENIR(XRZG)S4 F B
302 | 900 |& 75 FC A VS FCO« F—UPl K B
30«2 1010 |& = FC B VS INACLZ Ry YB| K B
30%2 |11:20|/L = A A VS INACLUZRw B Al XK B
30+%2 [1230|2 7 «+ — Y 7 A VS LYY XRIR| XK B
30%2 |1340|7 L = 14 3 A VS INACLZ R A| XK &

128208 (B)

SBBEHE KX B J-GREENIR(KR2G)S5 (9 : 00~15:00) x =
302 | 900 |& IEF Hanako A VS LYY XRIR| XK B
40«2 |[1015|E B B B K A VS A B 2 B AKX B
30«3 |[1150(1&E & ® % K B & X B 2 Bl X &
30+2 1345|858 IH Hanako A VS ZE & FC Al XK &

128208 (B)

SEBEY K B J-GREENIR(ALZ2G)S6 (9 : 00~17 : 00) x =
30«2 | 900 |7 = L N — )L B VS 551 —-—YPBl K B
30+2 [10:15|8 1B Hanako B /S JIz )LM= LBl XK &
30«2 [11:30|7 U = 14 3 A VS JxI)IIN—= LAl K B
30+2 (1245|858 1B Hanako B VS N B = X B
30%2 | 1400|277 = L N — )L A VS FCO«s+ b—-—UPl XK @&
30+%2 [1515|K ] F VS L = P2 A K &

BN E B BIEABREA (ALZ2G) (9:00~14:00) F &
30x2 | 920 | XK B W & & R®BREE DB MW E
302 |10:30|A O M I VS REBEEDAGE E
302 [1140|K B W @& VS RE B E DBlHE E
30%x2 |1260|A O M I VS N B W € R B




